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Child Development and Pedagogy
1.	 Academic performance and intellectual 

abilities gradually improve in children 
who leave deprived settings and enter 
enriched settings- The above argument 
points primarily towards which of the 
following debates of development \
(A)	 Continuity versus Discontinuity
(B)	 Entity versus Incremental
(C)	 Heredity versus Environment
(D)	 Differentiation versus Integration

2.	 Which of the following factor is not 
proposed by Jean Piaget as affecting 
change in cognition \ 
(A)	 Activity
(B)	 Biological maturation
(C)	 Cultural tools
(D)	 Equilibration

3.	 Read the following statements :
		  Assertion (A) : Jean Piaget assumed that 

the process of learning is dependent solely 
on heredity.

		  Reason (R) : Development is a result 
of interaction between heredity and 
environment.

		  Choose the correct option :
(A)	 Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B)	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).
(C)	 (A) is true but (R) is false.
(D)	 Both (A) and (R) are false.

4.	 According to Jean Piaget] when children 
cannot handle new experience within 
cognitive structures] they experience and 
resort to .............. .

(A)	 disequilibrium; adaptation

(B)	 disequilibrium; internalization

(C)	 dissonance; adaptation

(D)	 dissonance; internalization
5.	 While Piaget views children as ........ 

Vygotsky views children as :

(A)	 active in manipulating ideas; passive 
in social contexts

(B)	 active in manipulating ideas; active 
in social contexts

(C)	 passive in manipulating ideas; active 
in social contexts

(D)	 passive in manipulating ideas; 
passive in social contexts

6.	 What is/are the basis/bases for determining 
the stage of moral development in 
Lawrence Kohlberg's theory ?
(a)	 Age of the individual
(b)	 Answer given by the individual - for/

against stealing
(c)	 Reasoning underlying the individual's 

response
Choose the correct option :
(A)	 Only (b)	 (B)	 (a) and (c)

(C)	 (a) and (b)	 (D)	 (b) and (c)

7.	 According to Lev Vygotsky] the essence 
of cognitive development is :
(A)	 mastering the use of psychological 

tools.
(B)	 learning to adapt to the environment.
(C)	 identifying how to respond to 

cognitive conflict.
(D)	 organizing schemes into coherent 

wholes.

8.	 According to Lev Vygotsky ----------play(s) 
an essential role in helping learn through 
the zone of proximal development.
(A)	 physical environment
(B)	 more knowledgeable others
(C)	 maturation
(D)	 positive reinforcement

9.	 What is progressive education ?
(A)	 An approach to education that 

emphasizes discipline and rote 
memorization.

(B)	 An approach to education that 
emphasizes individualized learning 
and student centered classrooms.

(C) 	 A me thod  o f  t each ing  tha t 
emphasizes strict adherence to 
standard curriculum.

(D) 	A method of teaching that emphasizes 
maximum use of technology and 
multimedia in the classroom.

10.	 Howard Gardner proposed that intelligence :
(A)	 can be differentiated into multiple 

kinds.
(B)	 is influenced only by genetics and 

not by environmental factors.
(C) is dominantly about recall and 

memorization.
(D) 	 is primarily about emotional 

learning.
11.	 Read the following statements :

		  Assertion (A) : When we look at 
childhood as a single category, we lose 
out on the social and cultural differences 
between children with regards to gender, 
ethnicity, social class.

		  Reason (R) : Childhood is a social 
construction.

		  Choose the correct option.
(A)	 Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B)	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).
(C)	 (A) is true but (R) is false.
(D) 	Both (A) and (R) are false.

12.	 Read the following statements.
	 	 Assertion (A): Girls in middle school 

might often be silent and non & classroom 
discussions participative in.

		  Reason (R): Given their genetic makeup 
girls are not competent to comprehend and 
cope up with the challenging curriculum 
in middle schools.

		  Choose the correct option.
	(A) 	Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B) 	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).A
(C) 	 (A) is true but (R) is false.
(D) 	Both (A) and (R) are false.

13.	 The nature of assessment should be 
............. and assessment tasks should be 
............. .
(A)	 dynamic ; authentic
(B)	 objective ; standardized
(C)	 dynamic ; standardized
(D)	 objective ; authentic
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14.	 Read the following statements.
		  Assertion (A): An inclusive classroom 

does not offer differentiated instruction.
		  Reason (R): Inclusion is a policy that 

stresses equal opportunities by providing 
same learning goals] strategies and 
assessment methods.

		  Choose the correct option.
(A) 	Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B) 	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).
(C) 	 (A) is true but (R) is false.
(D) 	Both (A) and (R) are false.

15.	 Use of people&first language such as 
using the description ‘students with a 
learning disability’ instead of learning & 
disabled students :
(A) takes away the emphasis from 

disabilities and is not in the true 
spirit of inclusion.

(B) 	 is in consonance with the human 
rights approach to inclusion.

(C) 	 illustrates the emphasis on medical 
model of disability.

(D) 	 is a hindrance in correct identification 
and labelling of people with 
disabilities.

16.	 Examples of assistive technological 
devices to cater to needs of children with 
visual difficulties include.
(a)	 alternative computer input devices.
(b) 	 braille embosser and displays. A
(c)	 speech recognition software (speech 

to text).
(d)	 use of sign language.

		  Choose the correct option.
(A)	 Only (a), (b) and (c) 
(B)	 Only (b), (c) and (d)
(C)	 Only (b) and (c) 
(D)	 (a), (b), (c) and (d)

17.	 to support inclusion of students with 
autism] it is advisable to :
(A) 	 avoid giving visual support and 

visual cues.
(B) 	 create a classroom setting that is 

overstimulating.
(C) 	 form an unstructured setup with 

random routines.
(D) 	use concrete] literal and consistent 

language.
18.	 In order to address the needs of talented 

and creative children in the classroom] it 
is important to:
(A)	 keep them engaged and interested in 

the learning process.

(B)	 provide them with detailed and 
explicit instructions.

(C)	 ensure that they receive higher 
grades than their peers.

(D)	 give primacy to their cognitive 
requirements over emotional needs. 

19.	 Read the following statements :
		  Assertion (A) : It is advisable not to rely 

on standardized tests while conducting 
assessment for learning.

		  Reason (R) : In criteria-referenced 
testing, scores are compared to a set 
performance standard.

		  Choose the correct option.
	(A) 	Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B) 	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).
(C) 	 (A) is true but (R) is false.

(D) 	Both (A) and (R) are false- 
20.	 Which of the following is an example of 

a question that promotes analytical skills 
in students?
(A)	 What is the definition of a mammal ?
(B)	 Explain the key characteristics of 

mammals.
(C)	 How have mammals adapted to their 

environments?

(D) 	Tell a few examples and a few non & 
examples of mammals given in the 
textbook.

21.	 Teachers should deal with failure of 
students in the classrooms :
(A) 	By critically examining their own 

pedagogical strategies.
(B) 	 By correcting and overcorrecting the 

students who have failed.
(C) 	 By administering standardized IQ 

tests to failed students to assess 
intelligence.

(D)	 By identifying the caste of the 
students and telling parents to 
provide additional support at home.

22.	 What is the role of prior knowledge in 
constructivist learning \
(A) Prior knowledge can hinder the 

learning process since children 
come to school with a lot of 
misconceptions.

(B) Prior knowledge is important for 
building connections and facilitating 
new learning.

(C) 	 Prior knowledge is only important 
for advanced learners who are 
already familiar with the topic- 

(D) 	Prior knowledge is only important 
for learners who have high levels of 
intrinsic motivation.

23.	 How can teachers support students in 
becoming self & directed learners in a 
constructivist classroom?
(A) By providing frequent feedback 

and grades to motivate students to 
outperform each other

(B) 	 By setting explicit goals and 
objectives for all learning tasks

(C) 	 By encouraging students to take 
responsibility for their own learning 
and develop self & regulation skills

(D) 	 By providing detailed and prescriptive 
instructions for all learning tasks

24.	 In discovery learning] students :
(A)	 derive information for themselves 

through exploration and manipulation 
of ideas.

(B)	 consistently make new discoveries 
in the world through exploration and 
manipulation of ideas.

(C)	 derive information for themselves 
through rehearsal and extended 
practice.

(D)	 make new discoveries in the world 
through rehearsal and extended 
practice.

25.	 Realizing that he is not paying attention in 
the science class and hence he isunable to 
understand the concepts] Ramesh decides 
to sit at the front so that he can focus 
attention better- Which learning strategy 
is Ramesh using?
(A)	 Rehearsal	 (B)	 Metacognition
(C)	 Scaffolding	 (D)	Mnemonics

26.	 In order to advance problem solving skills 
of learners teachers should encourage 
...................... and should promote 
..................... thinking among learners.
(A)	 belief perseverance; reciprocal
(B)	 functional fixedness; divergent
(C)	 means & end analysis; convergent
(D)	 verbalization; analogical

27.	 Read the following statements :
		  Assertion (A) : A middle school teacher 

keeps in regular touch with the parents of 
students of her class to understand them 
better.

		  Reason (R) : Communities should direct 
how and what the children should learn.

		  Choose the correct option.
(A)	 Both (A) and (R) are true and (R) is 

the correct explanation of (A).
(B)	 Both (A) and (R) are true but (R) is 

not the correct explanation of (A).
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(C)	 (A) is true but (R) is false.
(D)	 Both (A) and (R) are false.

28.	 Which of the following statements  
about emotions is correct in context of 
cognition ?
(A)	 Emotions facilitate encoding but 

have no impact on attention.
(B)	 Emotions help in efficient retrieval 

of information but do not influence 
motivationto learn.

(C)	 Emotions modulate various aspects 
of cognition, however, degree and 
direction of effect depend on a range 
of factors.

(D)	 Impact of emotions on learning is 
always univalent and has a positive 
efect only irrespective of the nature 
of emotion.

29.	 How can teachers increase intrinsic 
motivation in the students \
(A)	 By giving ‘removal punishment’
(B)	 By giving ‘negative reinforcement’
(C)	 By offering ‘rewards and prizes’
(D)	 By inculcating ‘joy of learning’

30.	 Which of the following statements correctly 
describes the relationship between intrinsic 
and extrinsic motivation ?
(A)	 Intrinsic motivation and extrinsic 

motivation are mutually exclusive; 
individuals cannot be motivated by 
both at the same time.

(B)	 Intrinsic motivation can impact 
extrinsic motivation] but extrinsic 
motivation cannot impact intrinsic 
motivation in any possible manner.

(C)	 Intrinsic and extrinsic motivations 
can both impact an individuals 
behaviour ]  but  they operate 
independently of each other.

(D)	 Intrinsic and extrinsic motivations 
can interact with each other in 
complex ways] with one type of 
motivation affecting the other.

Mathematics
31.	 If A and B represent digits and

		

A B A

× 5

44 B 0

		  then which of the following is true?
(A)	 A = 4, B = 2	 (B) A = 9, B = 8
(C) A = 2, B = 4	 (D) A = 8, B = 9

32.	 If x is the smallest number which is to be 
subtracted from 7751 to make it a perfect 
square, then the value of (3x & 5) is :
	(A)	 7 	 (B)	 10 
(C)	 13 	 (D)	16

33.	 Which of the following mathematical 
statements is not true?
(A) 	The number of factors of a given 

number is finite.
(B) 	 Every factor of a given number 

is less than or equal to the given 
number.

(C) Every factor of a given number 
is always greater than the given 
number.

(D) 	Every multiple of a given number is 
greater than or equal to that number.

34.	 If ( x + 5 ) + 7y is written as 5 + ( x + 7y) 
then which of the following property/
properties of addition is/are being used.
(A)	 Commutative
(B)	 Distributive
(C)	 Associative and distributive both
(D)	 Commutative and associative both

35.	 In which of the following statements, the 
number 6 is used in cardinal sense?
(A)	 6 is the predecessor of 7.
(B)	 She was sitting in the 6th row of the 

auditorium.
(C)	 There are 6 elements in a set.
(D)	 6 is the successor of 5.

36.	 If LCM of two numbers is 392, then 
which of the following cannot be the HCF 
of these numbers?

		  (A)	 28 	 (B)	 42 
		  (C)	 56	 (D)	196
37.	 What is the smallest positive integer 

which is not a factor of the product 264 
× 90 × 1680?

		  (A)	 12 	 (B)	 13 
		  (C)	 14 	 (D)	15

38.	 Which of the following is a closed ended 
problem?
(A) 	List four rational numbers between 

11
5  and 11

10 .
(B) 	 List four natural numbers between 

104 and 109
(C) 	 Write four integers less than 5
(D) 	Write four equivalent fractions for 

7
5 .

39.	 In the expression ( 5x – 3y ) ( 6x + 5y)  
– ( 3x + 7y ) ( 4x – 5y ) what is the 
coefficient of xy?

		  (A) –6 	 (B)	 9 
		  (C) –11 	 (D) 13
40.	 One of the factors of 81x2 & 126xy – 49y2 

& (5x + 3y)2 is :
		  (A) 7x + 2y 	 (B) 2x + 5y
		  (C) 7x – 2y 	 (D) 5x – 7y

41.	 I f  4
7 – 1 – 7

1 2 2
1 4x x x– – =b l  then 

what is the value of 3 – 1
5 – 3

x
x ?

		  (A)	 1	 (B)	 3/2

		  (C)	 7

5 	
(D)	 8

11

42.	 From a circular sheet of diameter 16 cm, 
a circle of radius 6 cm is removed. Then  
the area (in cm2) of the remaining sheet 
is (use π = 7

22 )
(A)	 176	 (B)	 88
(C)	 66	 (D)	44

43.	 A metallic solid cuboidal box of 
dimensions 200 cm × 50 cm × 100 cm is 
melted and recast into a solid cube. The 
difference between the surface areas of 
the two solids is :
(A)	 25000 cm2	 (B)	 20000 cm2

(C)	 15000 cm2	 (D)	10000 cm2

44.	 The difference of two complementary 
angles is 40°. If smaller of these angles is 
y, then the value of (2y + 15°) is :
(A)	 45°	 (B)	 50°
(C)	 55°	 (D)	65°

45.	 Which of the following figures do not 
have equal number of lines of symmetry?
(A)	 Isosceles triangle and kite
(B)	 Kite and parallelogram
(C)	 Rectangle and rhombus
(D)	 Kite and isosceles trapezium

46.	 S is a point on side QR of a triangle PQR 
such that PS ^ QR and PS is the bisector 
of ∠QPR. Then, which of the following 
statements is true?

		  (A)	 PQS @ DPSR, by RHS
		  (B)	 PQS @ DPRS, by ASA
		  (C)	 PQS @ DPSR, by ASA
		  (D)	 PQS @ DPRS, by RHS
47.	 Which of the following can be the length 

of the third side of a triangle whose two 
sides are of lengths 19 cm and 15 cm?

		  (A) 3 cm	 (B)	 4 cm 
		  (C) 33 cm	 (D)	34 cm

48.	 In a quadrilateral ABCD] angles A]B]
C and D are respectively (3x & 10°),  
(x + 30°), (2x + 30°) and (2x & 10°) Then] 
this quadrilateral is a :
(A)		 trapezium	 (B)	 parallelogram
(C)		 kite	 (D)	 rectangle

49.	 The area of a triangle of sides 24 cm, 
45 cm and 51 cm is equal to the area of 
a rectangle of length 45 cm. Then, the 
perimeter of the rectangle is :
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(A)	 55 cm 	 (B)	 57 cm 
(C)	 110 cm	 (D)	114 cm

50.	 The mean of observations (arranged in 
ascending order) 42, 48, x + 15, x + 17, 
x + 20, 58 and 60 is 53- The median of 
the data is:
(A)	 53	 (B)	 54 
(C)	 55 	 (D)	56

51.	 A student was asked to find the value 
of x in x – 4 = 3. He completed the task 
by subtracting 4 from 3. Which of the 
following most appropriately describes 
the above situation?
(A) 	The student has solved the problem 

correctly
(B) 	 The student has made an algorithm 

- based error
(C) 	 The student should memorize all the 

rules of transposition
(D) 	Giving such problems to solve 

should be avoided
52.	 Which of the following is the most 

appropriate way to introduce experimental 
probability to 8th graders?
(A)	 Tossing a fair coin several times and 

noting down the outcomes
(B)	 Solving statistics & based problems
(C)	 Giving examples of many outcome 

- based events like tossing a coin, 
drawing cards, etc.

(D)	 Defining experimental probability 
on board and giving examples.

53.	 The National Curriculum Framework  
(NCF), 2005 promotes a spiral approach 
for mathematics curriculum at middle 
school level. The best example of this 
approach is:
(A)	 including different concepts at each 

grade
(B)	 including concepts that are repeated 

at each grade
(C)	 including simpler as well as difficult 

concepts at every grade
(D)	 including concepts in the increasing 

order of difficulty by briefly revisiting 
concepts taught previously

54.	 Which of the following represent the 
most appropriate reasons of assessment 
at upper primary stage?
(a)	 To identify individual and specific 

needs of the learner
(b)	 To find out to what extent the aims 

and objectives of mathematics 
curricula have been achieved

(c)	 To find out whether students have 
learned a standard procedure to solve 
a problem 

(d)	 To select students for competitive 
exams in mathematics.

Choose the correct option.
(A)	 Only (a) and (c)
(B)	 (a), (c) and (d)
(C)	 (a) and (b)
(D)	 (b) and (d)

55.	 Which of the following should be 
followed while using ‘questioning’ as a 
tool of assessment in a classroom?
(A)	 Asking questions only from the low 

achievers
(B)	 Asking questions for assessing errors 

and misconceptions
(C)	 Asking too many questions without 

pause
(D)	 Asking a question and answering it 

yourself

56.	 Which of the following is considered as a 
characteristic of an effective mathematics 
classroom?
(A) 	Provide opportunities to the students 

to solve similar problems as that 
solved by the teacher

(B) 	 Sens i t i ze  the  s tuden t s  t ha t 
mathematics is an abstract subject 
with the help of different examples

(C) 	 Encourage individual problem & 
solving task rather than group work

(D) 	Provide opportunities to the students 
to solve problems in multiple ways

57.	 The value of 0.017 × 0.0081× 0.25
0.125 × 57.8 × 0.729  is 

equal to :
(A)	 153	 (B)	 1530
(C)	 15300	 (D)	153000 

58.	 A sum of ̀ 16,000 amounts to ̀ x in 2 3
1  

years at 15% p-a-] interest compounded 
yearly- What is the value of x\
(A)	 21,160	 (B)	 21,488
(C)	 22,218	 (D)	22,360

59.	 A person sold two articles A and B for 348 

each- He earned a profit of 20% on A and 
suffered a loss of 13% on B- His profit (in 
`) in the entire transaction is :
(A)	 6	 (B)	 7
(C)	 9	 (D)	12

60.	 The time spent by a student during a day 
in different activities is represented by 
sectors of central angles in a pie chart as 
given below :

School&90
Homework& 60°

Play& 60°

Sleep& 120°
Others& 30°

		  What is the difference between the time 
spent by the student in the activities 
‘sleep’ and ‘school’\

(A)	 1 2
1  hour	 (B)	 2 hour

(C)	 3 hour	 (D)	4 hour

Science
61.	 Read the following statements.
	 	 Assertion (A) : Deforestation can lead to 

floods.
		  Reasoning (R) : The infiltration rate of 

water is reduced due to deforestation.
		  Choose the correct option.

(A)	 Both (A) and (R) are true and (R) is 
the correct reasoning for (A).

(B) 	 Both (A) and (R) are true but (R) is 
not the correct reasoning for (A).

(C) 	 (A) is true but (R) is false.
		  (D) 	 (A) is false but (R) is true.
62.	 Which hormone is responsible for the 

process of metamorphosis in frogs?
		  (A)	 Adrenaline
		  (B) 	 Growth hormone
		  (C) 	 Thyroxine
		  (D)	 Insulin
63.	 Which of the following statements 

about the sequence of events in sexual 
reproduction in a flower is correct?
(A) 	Seedlings are formed after pollination 

and before development of embryo.
(B) 	 Embryo is formed before pollination 

and after fertilization.
(C) 	 Seedlings are formed after pollination 

and development of embryo.
(D)	 Embryo is formed after pollination 

and formation of seedlings.
64.	 Which of the following statements is not 

true about endocrine glands?
(A)	 Pancreas and adrenals are endocrine 

glands.
(B)	 Endocrine glands secrete hormones 

through ducts.
(C) 	 Pituitary gland is attached to the 

brain.
(D) 	Endocrine glands secrete hormones.

65.	 Microorganisms can be both useful 
as well as harmful to us. Which of the 
following processes is not carried out by 
microorganisms?
(A)	 Breaking down of organic wastes
(B)	 Increasing soil fertility
(C)	 Preservation of food items in homes
(D)	 Preparation of medicines
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66.	 A sample of soil mixed with water turns 
the pH paper yellowish orange- Which of 
would now change the colour of the pH 
paper to bluish?
(A)	 Milk of magnesia
(B)	 Lemon juice
(C)	 Vinegar
(D)	 Common salt

67.	 Arrange the following steps of fixation 
of atmospheric nitrogen in the correct 
sequence.
(a)	 Uptake of compounds of nitrogen by 

plants through the root system
(b) 	 Synthesis of plant proteins and other 

compounds
(c) 	 Conversion of nitrogenous wastes 

from dead plants and animals into 
nitrogenous compounds

(d) 	 Fixation of nitrogen from atmosphere 
by certain bacteria and blue & green 
algae.

Choose the correct option.
	 	 (A)	 (d)→(c)→(a)→(b)
		  (B)	 (a)→(d)→(c)→(b)
		  (C)	 (d)→(a)→(b)→(c)
		  (D)	 (d)→(b)→(a)→(c)

68.	 Which of the following is not likely to 
increase the fertility of soil?
(A)	 Substitute fertilizers by organic 

manure
(B) 	 Leave the field uncultivated between 

two crops
(C) 	 Grow different crops alternately 

every season
(D) 	Maintain minimum distance between 

the crops while sowing

69.	 An oxide of a substance X reacts with 
water to produce another substance 
Y- Y reacts with oxygen to form Z- It 
is observed that Y turns blue litmus red- 
Which of the following can be concluded 
about X] Y and Z?

(A) 	X is a metal, Y is acidic and Z is 
basic in nature.

(B) 	 X is a metal, Y is basic and Z is acidic 
in nature.

(C) 	 X is a non & metal, Y is acidic and 
Z is basic in nature- 

(D) 	X is a non & metal, Y is acidic and 
Z is acidic in nature.

70.	 Which of the following is likely to happen 
when chlorine gas is added to the solution 
of sodium bromide \

(A) 	Sodium chloride is formed through 
displacement reaction

(B) 	 Pure sodium is obtained through 
sublimation

(C) 	 Sodium chloride is formed through 
decomposition

(D) 	No reaction will take place
71.	 Which of the following statements about 

zones of a candle flame is not true?

(A) 	The non & luminous part of the flame 
is the zone of complete combustion.

(B) 	 The temperature of middle zone and 
the non luminous part of the flame is 
same.

(C) 	 The yellow part of the flame is the 
region of partial combustion.

(D) 	The innermost zone does not support 
burning and comprises unburnt wax 
vapours.

72.	 A girl makes a hole near the bottom of a 
plastic bottle- She puts her thumb over 
the hole to cover it] fills the bottle with 
water up to half of its capacity- She then 
closes the cap of the bottle tightly- What 
will happen when she removes her thumb 
from the hole \
(A) 	The water will spurt out of the hole 

because the pressure inside the bottle 
is less than the outside pressure.

(B)	 The water will not spurt out of the 
hole because the pressure inside 
the bottle is more than the outside 
pressure.

(C)	 The water will spurt out of the hole 
because the pressure inside the bottle 
is more than the outside pressure.

(D)	 The water will not spurt out of the 
hole because the pressure inside 
the bottle is less than the outside 
pressure.

73.	 Fill in the blanks.
		  Bakelite is a a and it is used for making  

b. On the other hand, PVC is a c which is 
used for making d.
(A) 	 (a)-thermosetting plastic; (b)-

electrical switches; (c)-thermo-
plastic; (d)-containers

(B)	 (a)-thermosetting plastic; (b)-
containers; (c)-thermoplastic;  (d)-
utensils

(C) 	 (a)-thermoplastic; (b)-utensil hand-
less; (c)-thermosetting plastic; (d)-
electrical switches

(D) (a)-thermoplastic; (b)-electrical 
switches; (c)-thermosetting plastic;  
(d)-containers

74.	 A ray of light enters two media X and Y 
having different optical densities- Refer 
to the table given below and identify a] 
b, c and d :

Me-
dium

Change 
in speed 
of light

Change 
in fre-
quency 
of light

Change in 
wave-

length of 
light

X Increase a b
Y c d Decreases

	(A)	 a Increases; b Decreases: c Increases; 
d Decreases

(B) 	 a No change; b Decreases: c 
Decreases: d No change

(B) 	 a No change: b Increases; c 
Decreases; d No change

(D) 	 a Decreases; b No change ; c No 
change; d Increases

75.	 A teacher gives the following materials 
to two groups of students.

		  Group a : Three rectangular glass strips, 
a circular plane glass plate] some pieces 
of bangles and cardboard tube and disk.

		  Group b : Two plane mirrors and a hard 
cardboard box.

		  Which of the following gadgets can be 
prepared by the groups a and b using the 
above sets of materials? 

Group a	 Group b
(A)	 Periscope	 Kaleidoscape
(B)	 Kaleidoscope	 Newton's disk
(C)	 Kaleidoscope	 Periscape
(D)	 Periscope	 Pinhole camera

76.	 Bujho wants to set up a circuit for the 
purification of copper- Which of the 
following electrodes and solutions should 
he opt for?
(A) 	 Anode&Impure copper; Cathode&Pure 

copper; Solution& Water
(B)	 Anode&Carbon; Cathode&Pure 

copper; Solution&Copper sulphate
(C) 	 Anode&Impure copper; Cathode&Pure 

copper; Solution& Copper sulphate
(D) 	 Anode&Pure copper; Cathode&Impure 

copper; Solution& Copper sulphate

77.	 Which of the following would you choose 
for making a fuse wire?

Resist-
ance

Thick-
ness

Melting 
point

(A) High Thick Low
(B) High Thin Low
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(C) Low Thin High
(D) Low Thick High

78.	 Which of the following ‘medium’ is 
present between the inner and outer layers 
of a thermo-flask and why ?
(A)	 Air, because it prevents loss of heat 

due to conduction
(B)	 Steel, because it prevents loss of heat 

due to radiation and convection
(C)	 Vacuum, because it prevents loss 

of heat due to conduction and 
convection

	(D)	 Air, because it prevents loss of heat 
due to radiation and conduction

79.	 Fill in the blanks : 
		  The process by which dead vegetation is 

converted to fossil fuel a at b pressure and 

c temperature is called as d.
(A)	 a-coal; b-high; c-low; d-oxidation
(B)	 a-petroleum; b-low; c-high; d-carb-

onization
	(C)	 a-natural gas; b-high; c-high; d-oxi- 

dation
(D)	 a-coal; b-high; c-high; d-carboni-

zation.

80.	 The following is the weather chart of a 
city for different months. Which month 
will have the highest rate of evaporation\

		  Months	Temperature	Wind	 Humidity 
			   (°C)	 speed (m/s)	 (%)
		  (A)	 a	 26	 0.87	 83.12
		  (B)	 b	 29	 2.91	 72.33
		  (C)	 c	 27	 0.71	 75.50
		  (D)	 d	 26	 0.82	 75.22

81.	 Which of the following is not consistent 
with the contemporary understanding of 
science ?
(A)	 Following one scientific method is 

surely and the only way to scientific 
discovery.

(B)	 The scientific method does not 
help to make any aesthetic or value 
judgement about a phenomenon.

(C)	 Investigations in science may 
involve repeated action on any one 
or all steps of scientific method in 
any order.

(D)	 Scientific method offers a logical 
approach to problem solving.

82.	 Consider the following excerpt :
	 	 “Bohr ' s  theory  of  a tom marked  

a revolution in science. It led to pro-  
position of stationary energy states for 

electron, in which the electron does not 
radiate energy while revolving round the 
nucleus.”

		  What does the above excerpt illustrate 
about nature of science ?
(A)	 Science is subjective.
(B)	 Science is value-neutral.

		  (C)	 Science is tentative.
(D)	 Science is socially and culturally 

embedded.

83.	 Read the following statements :
Assertion (A) : Science undergoes 
paradigm shifts.
	Reasoning (R) : Existing scientific 
theories and laws may be discarded in 
light of new evidence.

		  Choose the correct option.
(A)	 Both (A) and (R) are true and (R) is 

the correct reasoning for (A).
(B)	 Both (A) and (R) are true but (R) is 

not the correct reasoning for (A).
(C)	 (A) is true but (R) is false.
(D)	 (A) is false but (R) is true.

84.	 A teacher organizes a debate on nuclear 
energy in class. What could be her 
objectives ?
(a)	 To make understand connection 

between science, technology and 
society

(b)	 To familiarize learners with issues 
of global concern

(c)	 To promote students' conceptual 
understanding about nuclear reactor

(d)	 To  make  u nde r s t and  abou t 
responsible use of science for benefit 
of society

		  Choose the correct option :
(A)	 (b), (c) and (d)
(B)	 (a), (c) and (d)
(C)	 (a), (b) and (d)
(D)	 (a), (b) and (c)

85.	 Which of the following represents a 
correct scientific analogy ?
(A)	 Pure gold is as soft as butter.
(B)	 Mitochondria is the powerhouse of 

a cell.
(C)	 Fuel burns like a fire.
(D)	 Battery is to flashlight as headlight 

is to car.

86.	 A teacher, while teaching a topic in 
chemistry, identifies the following 
conceptions. Which of the following is 
not an alternative conception ?
(A)	 Carbon atom is black in colour.
(B)	 A chemical bond is a line between 

two atoms.

(C)	 Adding oxygen in a reaction is 
oxidation.

(D)	 Allotropes of carbon have same 
atomic number.

87.	 During a science class, a teacher shared 
with her learners that the credit for the 
invention of electric bulb is usually  
given to Thomas Alva Edison. Several  
others before him worked on it but failed. 
What does the above remark by the 
teacher indicate about science ?

		  (a)	� Science is an interdisciplinary area 
of learning.

		  (b)	 Science is dynamic.
		  (c)	 Science is a collective enterprise.
		  (d)	 Science promotes scepticism.
		  Choose the correct option.

(A)	 (b) and (c)	 (B)	 (c) and (d)
(C)	 (a) and (c)	 (D)	 (b) and (d)

88.	 A teacher performed an experiment in the 
class and students recorded the following 
statements S1 and S2 :

		  S1 : Oxygen is a supporter of combustion.
		  S2 : Oxygen is a non-combustible gas.
		  Which of the following is true ?

(A)	 S1 – Observation; S2 – Observation

(B)	 S1 – Inference; S2 – Inference
		  (C)	 S1 – Inference; S2 – Observation

(D)	 S1 – Observation; S2 – Inference

89.	 Which of the following should be 
emphasized by the teacher for nurturing 
creativity ?

(a)	 Engaging students in inquiry and 
discovery oriented tasks

(b)	 Highlighting right or wrong responses 
while evaluating students' tasks

(c)	 Encouraging students to do tasks 
without any fear of evaluation.

(d)	 Encouraging learners to find right 
answers to all textbook questions

		  Choose the correct option :

(A)	 (a) and (b)	 (B)	 (b) and (c)

(C)	 (a) and (c)	 (D)	 (a) and (d)

90.	 Why do scientists use scientific modelling 
to analyze the behaviour of systems ?
(A)	 Modelling does not need instruments. 
(B)	 Modelling does not require any 

computer calculation.
(C)	 Models are simpler to analyze than 

real system.
		  (D)	 Models cannot test hypothesis.
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English : Language-I
Direction (Q. No. 91 to 99)

Read the passage given below and answer the 
questions that follow :

	 1.	 Do children really need such long summer 
breaks, was a question posed by some 
experts recently. Apparently, such a long 
break disrupts their development and 
comes in the way of their learning process. 
"Let's get them back to their books", 
is perhaps the expert view. One would 
have thought the children are doing too 
much during their vacations and not too 
little, given the plethora of classes, camps 
and workshops involving swimming, 
art, personality development, music, 
computers and the like. Even the trips 
taken in the name of holidays seem laden 
with exotic destinations and customized 
experience packed into a short period of 
time. We can go Europe in 10 days and 
Australia in a week come back armed 
with digital memories and overflowing 
suitcases. Holidays are, in some ways, no 
longer a break but an intensified search for 
experience not normally encountered in 
everyday life-countered in everyday life.

	 2.	 It is a far cry from summer holidays as we 
know them. For us, holidays every year 
meant one thing and one thing alone – you 
went back to your native place, logging in 
with the emotional headquarters of your 
extended family and spent two months 
with a gaggle of uncles, aunts and first and 
second cousins. The happiest memories 
of the childhood of a whole generation 
seemed to be centred around this annual 
ritual of homecoming.

	 3.	 Summer was not really a break, but a 
joint. It was the bridge used to reaffirm 
one's connectedness with one's larger 
community. One did not travel, one 
returned. It was not an attempt to 
experience the new and the extraordinary 
but one that emphatically underlined the 
power of the old and the ordinary. With 
the change of time, what we seek from 
our summer breaks too has changed in a 
fundamental way.

	 4.	 Today, we are attached much more to our 
work and summer helps us temporarily 
detach from this new source of identity. 
We refuel our individual selves now; and 
do so with much more material than we 
did in the past. But for those who grew 
up in different times, summer was the best 
time of their lives.

91.	 How do students spend their summer 
breaks ?
(A)	 By killing their time and playing for 

endless hours

(B)	 By attending camps and workshops 
like art, music, etc.

(C)	 By revising the areas in which they 
are weak

(D)	 By reading books

92.	 How are travel and tour not- break from 
daily stress ?
(A)	 They are laden with customised 

experience, packed into a short 
period of time.

(B)	 They are a break from an intensified 
search for experience.

(C)	 They require a lot of investment and 
exhaust our savings.

(D) They are armed with memories of 
one's native places.

93.	 How are present-day summer breaks 
different from those of the former days ?
(A)	 We refuel our individual selves.
(B)	 We are attached much more to our 

work.
(C)	 A bridge to reaffirm our connected-

ness with one's larger community.
(D)	 Both (A) and (B)

94.	 “Summer was not really a break, but a 
joint.” What does the author imply ? 
(A)	 Summer break intended to help a 

child connect to their kith and kin 
and build a strong bond with them.

(B)	 Children spend their summer break 
by killing their time by playing for 
endless hours.

(C)	 Long break disrupts the development 
of children and comes in the way of 
their learning process.

(D)	 Summer break is necessary to 
rejuvenate oneself and going for 
trips to exotic destinations.

95.	 What used to be the happiest memories 
of childhood for the author ?” 
(A)	 Going on a trip to Europe 

(B)	 Visiting one*s native place 
(C)	 Attending summer camps 
(D)	 Reading lots of books 

96.	 Which one of the following words is 
similar in meaning to the phrase 'made to 
suit one's needs', as used in the passage ?”
(A)	 Attached 	 (B)	 Plethora 
(C)	 Customised 	 (D)	Gaggle 

97.	 “Which one of the following words 
is opposite in meaning to the word 
'emphatically' as used in the passage ?” 
(A)	 Carefully 	 (B)	 Irregularly 
(C)	 Foolishly 	 (D)	Casually

98.	 ÞIt seems such a long break disrupts their 
development-ß 
Identify the clause in the underlined part 
of the above sentence- 
(A)	 Adverb clause	
(B)	 Noun clause 
(C)	 Principal clause	
(D)	 Adjective clause 

99.	 Identify the part of speech in the underlined 
word of the following sentence: 
“Summer was the best time of their lives.”
(A)	 Adverb 	 (B)	 Adjective 
(C)	 Modal 	 (D)	Conjunction

Direction (Q. No. 100 to 105)
Read the passage given below and answer the 
questions that follow :

Into the sunshine, 
Full of the light,
Leaping and flashing 
From morn till night! 
Into the moonlight,
Whiter than snow,
Waving no flower-like 
When the winds blow! 
Into the starlight,
Rushing in spray, 
Happy at midnight,
Happy by day! 
Glorious fountain! 
Let my heart be 
Fresh, cheerful, constant,

Upward, like thee!
100.	 The movement of the water of the 

fountain reflects : 
(A)	 joy 	 (B) sadness 
(C)	 earnestness 	 (D)	weariness 

101.	 The poet wants his heart to remain fresh. 
It means that he wants :
(A)	 to take a bath regularly 
(B)	 always to be dressed elegantly 
(C)	 to have new ideas all the time 
(D)	 to keep on moving all the time 

102.	 The poet admires the fountain and he feels 
thrilled to see it. Which word in the last 
stanza expresses the poet's admiration ?
(A)	 Glorious 	 (B) Cheerful 
(D)	 Fresh 	 (D) Upward

103.	 Identify and name the poetic device used 
in 'waving so flower-like'.
(A)	 Metaphor 	 (B)	 Alliteration 
(C)	 Personification 	(D)	Hyperbole 
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104.	 Which literary device has been used in 
stanza 2 to enhance the beauty of the 
lines ?
(A)	 Alliteration 
(B)	 Oxymoron 
(C)	 Anaphora 
(D)	 Transferred epithet 

105.	 The poet has used the words like whiter] 
blithesome] cheerful] etc- Which part 
of the speech do these words belong to\ 
(A)	 Adjective	 (B)	 Noun 
(C)	 Adverb 	 (D)	 Interjection

106.	 Which of the following terms is not 
related to Vygotsky's socio-cultural 
theory ?” 
(A)	 Social interaction 
(B)	 Scaffolding 
(C)	 Zone of proximal development 
(D)	 Language acquisition device 

107.	 Which one of the following is true for 
language learning ?
(A)	 Language learning happens through 

reading of language textbooks only 
(B)	 Language learning accelerates in 

print rich environment 
(C)	 Language learning is not required for 

learning of science and mathematics 
(D)	 Language learning happens 

unconsciously 

108.	 Crying, cooing and babbling are all the 
examples of _______ stage of language 
development ?” 

(A)	 linguistic 	 (B)	 pre&linguistic 
(C)	 expressive 	 (D)	 referential 

109.	 Garvit was speaking in Hindi to his peers 
in his classroom. When his teacher called 
on him, he immediately replied to her in 
English. This is an example of
(A)	 code-mixing 	
	(B)	 dialects 
(C)	 socio-linguistics 
(D)	 code-switching 

110.	 Looking for a number in the contact list 
of your phone is an example of
(A)	 scanning 	 (B)	 survey 
(C)	 review 	 (D)	 skimming 

111.	 Defining new words within context 
instead of making the children learn 
meanings of new words”
(A)	 often confuses the children 
(B)	 helps in better understanding of the 

word 

(C)	 promotes rote memorization 
(D)	 leads to wastage of time 

112.	 The type of writing in which the author 
mostly places himself as a character] 
(sometimes he may not) and narrates the 
story] is known as** 
(A) expository 	 (B) persuasive 
(C) descriptive 	 (D) narrative 

113.	 Language assessment aims at measuring 
____”
(A)	 how each learner achieved in 

comparison to his peers 
(B)	 their overall or summative 

achievement 
(C)	 the language achievement of learners 
(D)	 the language proficiency of learners 

114.	 You want to ensure maximum participation 
of the students of your class. Which of the 
following methods would you adopt for 
this purpose ?”
(A)	 Discussion	 (B)	 Demonstration 
(C)	 Model reading 	(D)	Recitation 

115.	 A listener while listening to the specific 
details recognizes cognates and word 
order patterns. What is this listening 
process known as ?”
(A)	 Bottom-up process 	
	(B)	 Top-down process 
(C)	 Inferential process 
(D)	 Linear process 

116.	 Which one of the following could be the 
'while-reading activity' when doing a 
short story ?
(A)	 Learners discuss to predict the events 

in the story.
(B)	 Learners do pair work and read 

mutually to one another.
(C)	 Learners discuss biographical details 

of the poet.
(D)	 Teacher asks meaning of new words 

and encourages them to frame 
sentences on them.

117.	 In one class you don't ask any questions; 
instead you give them some short texts 
and ask your learners to frame questions. 
The objective behind your task is to”
(A)	 develop your learners as good paper 

setters 
(B)	 take their help in your own task of 

setting questions 
(C)	 make your learners realize how 

difficult it is to frame questions 
(D)	 enhance your learners' analytical and 

critical thinking 

118.	 The use of teaching aids aims at
(A)	 engaging learners in learning tasks 
(B)	 optimizing learning outcomes of the 

learners 
(C)	 minimizing cases of indiscipline in 

the classroom 
(D)	 drawing learners' attention in the 

classroom 

119.	 One of your students takes a favourite 
book and retells the story often by using 
pictures as cues. This strongly suggests”
(A)	 emergent reading stage 
(B)	 phonological awareness 
(C)	 syntactic awareness 
(D)	 narrative awareness 

120.	 Every syllabus talks about learning 
outcomes which means
(A)	 taking into account the content of the 

textbook 
(B)	 change in the behaviour of the 

learners 
(C)	 completion of all lessons 
(D)	 change in teaching method of the 

teacher

fganh : Hkk"kk-I
funsZ'k (iz'u la[;k 91 ls 99 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 

lcls mi;qä mÙkj okys fodYi dks pqfu,µ

bl ckr dks lc yksx ekurs gSa fd vkRelaLdkj 

ds fy, FkksM+h cgqr ekufld Lora=rk ijeko';d 

gSA pkgs ml Lora=rk esa vfHkeku vkSj uezrk nksuksa 

dk esy gksA ;g ckr rks fuf'pr gS fd tks euq"; 

e;kZnkiwoZd thou O;rhr djuk pkgrs gSa] muds fy, 

vkRefuHkZjrk dk xq.k vfuok;Z gSA ;qokvksa dks bl 

ckr dk /;ku j[kuk pkfg, fd os vius cM+ksa dk 

lEeku djsa vkSj NksVksa ls dkseyrk dk O;ogkj djsaA 

;g ckr vkRee;kZnk ds fy, vko';d gSA uez gksuk 

,d cgqr cM+k xq.k gSA uez gksus dk eryc nCcwiu ls 

ugha gSA nCcwiu dh fLFkfr esa ladYi {kh.k vkSj çKk 

ean gks tkrs gSa vkRefuHkZjrk ds lkFk&lkFk mRlkg] 

J¼k] Hkfä] d#.kk ;s lHkh gekjs pkfjf=d xq.kksa esa 

lekosf'kr gksus pkfg,A

91.	 vkRelaLdkj ds fy, D;k vko';d ekuk 

x;k gS \

(A) 	dkseyrk

(B) 	 mRlkg

(C) 	 ekufld Lora=rk

(D) 	'kkjhfjd LokLF;
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92.	 e;kZnkiwoZd thou O;rhr djus ds fy, dkSu& 
lk xq.k gksuk pkfg, \

(A) 	vkRefuHkZjrk

(B) 	 lekykspukRedrk

(C) 	 jpukRedrk

(D) 	ldkjkRedrk

93.	 ;qokvksa ls fdl çdkj ds O;ogkj dh vis{kk 
dh xbZ gS \

(A) 	nwljksa ij vf/kdkj trkus dh

(B) 	 viuh egÙkk dks n'kkZus dh

(C) 	 cM+ksa ls cjkcjh dk O;ogkj djus dh

(D) 	NksVksa ls dkseyrk dk O;ogkj djus dh

94.	 nCcwiu dh fLFkfr fdl ifj.kke dh vksj ys 
tkrh gS \

(A) 	 foæksg

(B) 	 {kh.k ladYi

(C) 	 mPp fopkj

(D) 	rhoz cqf¼

95.	 vkRefuHkZjrk ds lkFk pfj= esa vkSj dkSu&ls 
xq.k vko';d ekus x, gSa \

(A) 	bZekunkjh o d#.kk

(B) 	 vuq'kklu o lân;rk

(C) 	 mRlkg o J¼k

(D) 	ohjrk o fu;ferrk

96.	 'laLdkj' 'kCn ls fo'ks"k.k cusxkµ

(A) 	laLdkjh	 (B) 	laLdkjrk 

(C) 	 laLdkfjr	 (D) 	laLÏr

97.	 'ijeko';d' dk laf/k&foPNsn gSµ

(A) 	ijek + o';d

(B) 	 ij + eko';d

(C) 	 ije + vo';d

(D) 	ije + vko';d

98.	 fdl 'kCn esa 'rk' çR;; dk ç;ksx djuk lgh gS \
		  (A)	 thou	 (B)	 vko';d
		  (C)	 çKk 	 (D)	lEeku

99.	 'e;kZnkiwoZd thou' ls vk'k; gSµ

 (A) 	lnkpkjh thou

	 (B) 	Lora= thou

 (C) 	Lokoyach thou

 (D) 	lkFkZd thou
funsZ'k (iz'u la[;k 100 ls 105 rd)

uhps fn, x, i|ka'k dks i<+dj iwNs x, ç'uksa ds lcls 
mi;qä mÙkj okys fodYi dks pqfu, :
tks esjs ikl ugha Fkk
mls gh eSa dfork esa ykrk jgk %
tyçikr] nsork] iwoZt]

cpiu ds ?kj ds lkeus NwV x,
dBpanu vkSj cdkSyh ds isM+A
eSa dfork esa ugha yk;k %
eqgYys dh [kqyh gqbZ cncwnkj ukfy;k¡
dHkh mQurk Øks/k] dHkh vpkud gqvk mYykl
eSa dfork esa cpk ik;k
tks esjs ikl ugha FkkA
;g Hkh ,d eksgd Hkze gS
fd dfork dqN cpk ikrh gSA
ij cpkdj gksxk D;k
cl] dfork t:j Hkkjh gks tk,xhA

100.	 jpukdkj dfork esa fdldk fp=.k ugha dj 
ldk \

(A) 	>juksa dk	 (B) 	vius Øks/k dk

(C) 	 panu ds o`{k dk	 (D) iwoZtksa dk

101.	 jpukdkj dks fdl çdkj dk Hkze gS \

(A) 	dfork }kjk dqN lajf{kr fd;k tk ldrk 
gS

(B) 	 dfork dqN Hkh lajf{kr ugha dj ldrh gS

(C) 	 dfork esa vyH; dk gh fp=.k gks ldrk 
gSA

(D) 	dfork esa lqyH; dk gh fp=.k gks ldrk 
gS

102.	 jpukdkj }kjk dfork esa fdldk fp=.k fd;k 
tkrk jgk \

(A) 	mYykl dk

(B) 	 nqx±/kiw.kZ ukfy;ksa dk

(C) 	 tyçikr dk

(D) 	Øks/k dk

103.	 jpukdkj us dfork esa D;k l¡tksus dk ç;kl 
fd;k \

(A) 	 fdlh çdkj dk Hkze

(B) 	 vius vuqHko

(C) 	 viuh bPNk,¡

(D) 	tks Lo;a mlds ikl ugha Fkk

104.	 'dfork t:j Hkkjh gks tk,xh' esa dfork ds 
Hkkjhiu ls D;k vk'k; gS \

	(A) 	dfork esa 'kCnksa dh la[;k dk vf/kd gksuk

(B) 	 dfork esa Hkkoksa dh xaHkhjrk gksuk

(C) 	 dfork dk fDy"V gksuk

(D) 	dfork dk v#fpdj gksuk

105.	 'tyçikr' dk lkekfld foxzg gSµ

(A) 	ty esa çikr	 (B) 	ty dk çikr

(C) 	 ty ls çikr	 (D) 	ty ij çikr

106.	 Hkk"kk vf/kxe ds ckjs esa dkSu&lk dFku lgh gS \

 (A) 	Hkk"kk vf/kxe dsoy Hkk"kk dh ikBîiqLrdksa 
ds iBu ds ek/;e ls gh gksrk gSA

 (B) 	eqfær&le`¼ ifjos'k esa Hkk"kk vf/kxe 
Rofjr xfr ls gksrk gSA

 (C) 	foKku vkSj xf.kr ds vf/kxe ds fy, 
Hkk"kk vf/kxe dh vko';drk ugha gSA

 (D) 	Hkk"kk vf/kxe vopsru :i ls ?kfVr gksrk 
gSA

107.	 jksuk] dwtu vkSj ccykuk Hkk"kk fodkl ds fdl 
pj.k (voLFkk) ds mnkgj.k gSa \

(A) 	Hkkf"kd
(B) 	 iwoZ&Hkkf"kd

(C) 	 vfHkO;fäijd (,Dlçsflo)
(D) 	lanHkkZRed (jsQjsaf'k;y)

108.	 fuEufyf[kr esa ls dkSu&lk in ok;xksRldh 
ds lkekftd&lkaLÏfrd fl¼kUr ls lacafèkr 
ugha gS \

(A) 	lkekftd var% fØ;k

(B) 	 lgkjk nsuk (LdSQksfYMax)
(C) 	 fudVLFk fodkl dk {ks=

(D) 	Hkk"kk vtZu midj.k

109.	 xfoZr viuh d{kk esa vius lgikfB;ksa ls fgUnh 
esa ckrphr djrk gSA tc v/;kid mls cqykrs 
gSa] rc og rqjUr gSA ;g fdldk mnkgj.k gS \

(A) 	dksM&feJ.k

(B) 	 cksfy;k¡

(C) 	 lkekftd&Hkkf"kd

(D) 	dksM&vUrj.k (dksM&fLofpax)

110.	 vius Qksu dh lEidZ lwph esa fdlh dk Qksu 
uEcj <w¡<+uk fdldk mnkgj.k gS \

(A) 	ckjhdh ls iBu ( LdSfuax )
(B) 	 losZ{k.k

(C) 	 leh{kk

(D) 	ljljh rkSj ij iBu ( fLdfeax )

111.	 ys[ku dk og dkSu&lk çdkj gS] ftlesa ys[kd 
cgq/kk Lo;a dks ,d ik= (dHkh ugha Hkh) ds :i 
esa çLrqr lqukrk gS \

(A) O;k[;kRed 
(B) çR;;dkjh (ijlq,flo)
(C) o.kZukRed (MsfLØfIVo) 
(D) o`ÙkkarkRed

112.	 vki pkgrs gSa fd vkidh d{kk ds fo|kFkhZ 
vfèkd&lsµvf/kd çfrHkkfxrk ntZ djsaA bl 
mís'; ds fy, vki fo vuqikyu djsaxs \

(A) 	ppkZ

(B) 	 çn'kZu

(C) 	 vkn'kZ iBu

(D) 	lLoj dkO; fdl fof/ k dk ikB 
(fjlkbVs'ku)



10   |    

113.	 ,d Jksrk fdlh ckr dks lqurs le;] fo'ks"k 

;k lw{e fooj.kksa dks lqurk gS] rFkk lelzksrh; 

'kCnksa (dkWxusV~l) vkSj 'kCn&Øe çfrekuksa dh 

igpku djrk gSA bl Jo.k&çfØ;k dks fdl 

:i esa tkuk tkrk gS \

(A) 	ckWVe & vi çfØ;k,¡

(B) 	 'kh"kZ & v/kksxkeh (VkWi&Mkmu) çfØ;k,¡

(C) 	 fu"d"kkZRed (bUÝsaf'k;y) çfØ;k,¡ 

(D) 	js[kh; çfØ;k,¡

114.	 y?kq dFkk dgrs le; 'iBu ds nkSjku' dh 

dkSu&lh xfrfof/k gksxh \

 (A) 	f'k{kkFkhZ dgkuh dh ?kVukvksa ds ckjs esa 

vuqeku yxkrs gSa

 (B) 	f'k{kkFkhZ nks&nks ds tksM+ksa esa iBu djrs gSa 

vkSj ,dµnwljs dks i<+dj lqukrs gSa

 (C) 	f'k{kkFkhZ dFkkdkj ds thou&laca/kh fooj.kksa 

dh ppkZ djrs gSa

 (D) 	v/;kfidk u, 'kCnksa ds vFkZ iwNrh gS vkSj 

mu 'kCnksa ls okD; cukus ds fy, çksRlkfgr 

djrh gS

115.	 çR;sd ikBîØe vf/kxe&çfrQyksa ds ckjs esa 

mYys[k djrk gS] ftldk rkRi;Z gSµ

(A)	 ikBîiqLrd dh fo"k;oLrq dks /;ku esa 

j[kuk

(B) 	 f'k{kkfFkZ;ksa ds O;ogkj esa ifjorZu

(C) 	 lHkh ikBksa dks iwjk djuk

(D) 	v/;kid dh f'k{k.k fof/k;ksa esa ifjorZu

116.	 cPpksa dks u, 'kCnksa ds vFkZ lh[kus ds LFkku 

ij mUgsa lanHkZ esa u, 'kCn nsus dk D;k ifj.kke 

gks ldrk gS \

(A) 	cPpksa dks Hkzfer djsxk

(B) 	 'kCn dh csgrj le> cukus esa enn djsxk

(C) 	 daBLFkhdj.k dks leqUur djsxk

(D) 	le; dh cjcknh gksxh

117.	 fdlh ,d d{kk esa vki ç'u iwNus ds LFkku ij 

fo|kfFkZ;ksa dks ,d laf{kIr ikBî&lkexzh nsdj 

ml ij vk/kkfjr ç'u cukus ds fy, dgrs gSaA 

bl dk;Z dk D;k mís'; gS \

 (A) 	vki pkgrs g S a  fd vkids fo|kFkh Z 

dq'kyrkiwoZd ç'u cuk,¡

 (B) 	ç'u cukus ds vius dke esa mudh enn 

ysuk

 (C) 	vius f'k{kkfFkZ;ksa dks ;g vuqHko djokuk 

fd ç'u cukuk fdruk dfBu dk;Z gS

 (D) 	vius f'k{kkfFkZ;ksa ds fo'ys"k.kkRed vkSj 

lekykspukRed fpUru dk lao¼Zu djuk

118.	 f'k{k.k vf/kxe lkexzh ds ç;ksx dk D;k 

mís'; gS \

(A) 	 f'k{kkfFkZ;ksa dks vf/kxe dk;Z esa layXu 

djuk 

(B) 	 f'k{kkfFkZ;ksa ds vf/kxe çfrQyksa ds çfr 

vk'kkfUor gksuk

(C) 	 d{kk esa vuq'kklughurk dks de djuk

(D) 	 f'k{kkfFkZ;ksa dk d{kk esa /;ku vkdf"kZr 

djuk

119.	 vkidh ,d fo|kFkhZ viuh fç; iqLrd mBkrh 

gS vkSj vDlj mlds fp=ksa dks ladsr ds :i 

esa ç;ksx djrs gq, dgkuh iqu% dgrh gSA ;g 

fdldk mYys[k gS \

(A) 	mn~xkeh iBu voLFkk

(B) 	 /oU;kRed tkx:drk 

(C) 	 okD;xr tkx:drk

(D) 	o`ÙkkarkRed tkx:drk

120.	 Hkk"kk vkdyu dk mís'; fdldk ekiu djuk 

gS \ 

(A) 	çR;sd f'k{kkFkhZ us vius lgikBh dh rqyuk 

esa fdruk lh[kk gS

(B) 	 fo|kfFkZ;ksa dh lexz ;k ;ksxkRed miyfC/k

(C) 	 f'k{kkfFkZ;ksa dh Hkk"kk miyfC/k

(D) 	 f'k{kkfFkZ;ksa dh Hkkf"kd fuiq.krk

English : Language-II
Direction (Q. No. 121 to 128)

Read the passage given below and answer the 
questions that follow :
There was a king] Shibi Rana, who enjoyed 
immense power. Even gods in heaven were 
jealous of him. They feared that Shibi might 
one day take away their kingdoms. They 
devised a plan to test his sense of justice. 
So they decided to reach Shibi's kingdom in 
disguise. One day, Shibi Rana was sitting on 
his throne. His courtroom was surrounded 
by majestic gardens. There came a scared 
dove flying to him and it was followed by a 
fierce looking eagle. The king gave shelter 
to the dove and saved her. The eagle argued 
that the king has taken away his food – the 
dove. It would starve. The king assured the 
eagle that he would give equal quantity of any 
other food. The eagle asked for king Shibi's 
flesh. The magnanimous king agreed with a 
smile. A balance was brought in the court. It 
was soon found that with each addition of 
the king's flesh the dove grew heavier. The 
equal balance was not arrived at. But the king 
remained calm and unperturbed.

The gods in the guise of the dove and the 
eagle were assured of Shibi's righteousness. 
The forms of the eagle and the dove soon 
disappeared. In their place stood Indra, 
the king of the gods and Agni, the god of 
fire smiling and blessing the king for his 
benevolence and greatness.

121.	 The gods in heaven were afraid of king 
Shibi because :
 (A)	 they thought he might have disguised 

himself as god.
 (B) 	they thought that Shibi might take 

away their kingdoms.
 (C) 	Shibi had a great sense of justice.
 (D) 	Shibi's courtroom was surrounded 

by majestic gardens.

122.	 The king saved____ from the fierce______
(A) 	 the eagle, dove	(B) 	the dove, eagle

(C) 	 Indra, Agni	 (D) 	Agni, Indra

123.	 The king was blessed for his :
 (a) 	 benevolence	  (b) 	greatness
 (c) 	 calmness
(A) Only (a)
(B) Only (b)
(C) Only (c)
(D) Both (a) and (b)

124.	 Which one of the following words 
is similar in meaning to the word' 
magnanium the passage ?
(A) 	Selfish	 (B) 	Generous

(C) 	 Petty	 (D) 	Suspicious

125.	 Which one of the following words is 
opposite in meaning to the word 'fierce' 
as used in the passage ?
(A) 	Wild	 (B) 	Savage

(C) 	 Ferocious	 (D) 	Tame

126.	 Identify the clause in the underlined part 
of the following sentence :

	  	The king assured the eagle that he would 
give equal quantity of any other food.

(A) 	Adjective clause

(B) 	 Adverb clause

(C) 	 Principal clause

(D) 	Noun clause

127.	 Which part of speech is the underlined 
word in the following sentence ?

	  	His courtroom was surrounded by 
majestic gardens.
(A) Noun	 (B) adjective
(C) Adverb	 (D) Conjunction
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128.	 Which part of the following sentence 
contains an error ?
The gods in the
 	 (a)
guise of dove and eagle
 	 (b)
are certain of
 	 (c)
Shibi's virtue.
 	 (d)
(A) 	 (a)	 (B) 	(d)
(C) 	 (c)	 (D) 	(b)

Direction (Q. No. 129 to 135)
Read the passage given below and answer the 
questions that follow :
Fitness is zero percent investment with 
infinite returns. There is a surge in diabetes 
and hypertension cases and other lifestyle 
diseases. Fitness is the only thing that can 
help. But with technology, physical activity 
has reduced. It has become fashionable to talk 
about fitness rather than act on it.
Several factors are cited to explain why 
fitness levels in school children are constantly 
declining. Children now walk far less than 
they used to. Instead of walking to or back 
from their school, they use a school bus, or get 
dropped and picked in a car. Once back home, 
they sit glued to the idiot box for several hours 
or keep playing computer games.
Excessive screen time can negatively impact 
a child's physical and mental health from 
increasing the risk of obesity to disturbing 
sleep patterns. There is neither place nor 
inclination to play outdoor games. Children's 
diet consists mainly of fast foods, fried foods, 
chocolates, crispies, sweets and fizzy drinks. 
These foods may be delicious and therefore, 
tempting, but they are highly deficient in 
vital nutrients. Parents are often aware of 
this, but out of misplaced love for children, 
they hardly ever discipline their eating habits. 
Girls, usually keen to remain slim, keep 
dieting unnecessarily and deprive their bodies 
of vital nourishment.
It is important that children spend plenty 
of time playing in fresh air and exercise 
even more than the grown-ups in order that 
their muscles develop and their bones grow 
properly. If they can go for a regular swim 
and walk down to the swimming pool, it 
would combine the benefits of both walking 
and swimming. In addition, they should be 
encouraged to take healthy and wholesome 
food rich in nutrients to avoid what may be 
described as convenience foods

129.	 The activity/activities that take (s) up 
most of the evening time of children is/are
(a) playing video games
(b) watching TV.
(c) walking and swimming
(A)	 Only (a)
(B)	 Only (b)
(C)	 Both (a) and (c)
(D)	 Both (a) and (b)

130.	 How does girls' keenness to remain slim 
affect their health ?
(A) 	They have more inclination towards 

fast food.
(B) 	 They fail to take essential 

nourishment because of dieting.
(C) 	 Their muscles are not developed.
(D) 	They do not go for walking and 

swimming.
131.	 What fault does the author find in 

convenience foods ?
(A) 	They are readily available
(B) 	 They are delicious and tempting
(C) 	 They lack vital nutrients
(D) 	They help in muscle development

132.	 Which one of the following words is 
similar in meaning to the phrase 'going 
down' as used in the passage ?
(A) 	Averaging	 (B) 	Dropping
(C) 	 Declining	 (D) 	Rising

133.	 Which one of the following words is 
opposite to the meaning of the word 
'lacking' as used inthe passage ?
(A) 	Deficient	 (B) 	Deprived
(C) 	 Unnecessary	 (D) 	Vital

134.	 Which part of speech is the underlined 
word in the following sentence ?
They are highly deficient in vital nutrients.
(A) Adjective	 (B) Adverb
(C) Noun	 (D) Verb

135.	 Explain the phrase ‘out of misplaced love’ 
as used in the passage.
(A) Love that does not exist
	(B) Love that is harmful
(C) Love that is blind
	(D) Love that lacks discipline

136.	 According to Chomsky, human beings 
have a to develop language.
(A) 	 learning set
(B) 	 biological disposition
(C) 	 perceptual set
(D) 	 telegraphic readiness

137.	 Constructivism as a learning theory 
believes
(A) 	 learning is individual characteristic
(B) 	 all learners cannot learn languages

(C) 	 learning is completely psychological 
phenomena

(D) 	 learning is socially constructed

138.	 A teacher provides learners of class VIII 
an article which she considers slightly 
above their language level. Learners have 
to work with the text to do many tasks. 
What is this known as ?
(A) 	Learning hypothesis
(B) 	 Incomprehensible input
(C) 	 Reading comprehension
(D) 	Comprehensible input

139.	 Which approach to language teaching 
-learning believes 'language is a habit' ?
(A) 	Communicative language teaching
(B) 	 Cooperative language learning
(C) 	 Natural approach
(D) 	Audio-lingualism 

140.	 Learning to writing by undergoing 
different stages of writing is known as :
(A) process approach to writing
(B) product approach to writing
(C) analytical writing
(D) creactive writing

141.	 Sometimes people combine elements of 
different languages in the same sentence. 
This is an example of :
(A) 	 code-switching
(B)	 code-mixing
(C) 	 socio-linguistics
(D) 	dialects

142.	 ‘Semantic cues’ in reading are prompts :
(A) 	 that help in decoding the word
(B) 	 for the correct pronunciation of the 

word
(C) 	 that support the meaning making 

process
(D) 	 for identifying the grammatical form

143.	 Students often lack confidence when 
speaking due to the unique pronunciation 
rules of the language. One way to 
overcome this problem is :
(A) 	 encouraging children to read in class
(B) 	 conducting special speech therapy 

with a counselor
(C) 	 using game-like activities which 

require oral interaction in classroom
(D) 	correcting whatever errors the 

students make

144.	 Teaching of grammar is chiefly useful for 
improving :
(A) 	fluency	 (B) 	accuracy
(C) 	 literacy	 (D) 	numeracy
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145.	 The objective of grammar teaching is to 
enable students to communicate. Which 
among the following is not in tune with 
this objective ?
(A) 	Students should have command over 

every aspect of each grammar point
(B) 	 Students need overt instruction that 

connects grammar points with larger 
communication contexts

(C)	 Students should master only those 
aspects that are relevant to the 
immediate communication task

(D) 	Error correction is not always the 
teacher's first responsibility

146.	 Which of the following is the most 
suitable assessment activity for assessing 
learners' communication skills ?
(A) 	Describing a scene from a picture 

book
(B) 	 Playing a role in a role play.
(C) 	 Listening to an audio text and 

responding to it orally.
(D) 	Writing a speech in a given situation.

147.	 Reading a novel is an example of :
(A) 	 extensive reading
(B) 	 intensive reading
(C) 	 scanning
(D) 	 skimming

148.	 A multilingual approach to schooling 
from the very beginning is chiefly helpful 
in countering the ill consequences of :
(A) 	 school dropouts
(B) 	 learning disabilities
(C) 	 losing one's own language
(D) 	weak communication skill

149.	 You engage your learners in a fun 
energizer activity before beginning a new 
lesson. You do this to
(A) 	motivate and prepare learners for the 

class
(B) 	 reduce your workload as a teacher
(C) 	 maintain discipline in the class 

before the lesson
(D) 	divert the attention of the learners

150.	 What is the basic objective of using a 
quotation in an essay ?
(A) 	To set the tone of the essay
(B) 	 To explain a complicated issue
(C) 	 To present another's point of view
(D) 	To analyze specific data

fganh : Hkk"kk&II
funsZ'k (iz'u la[;k 121 ls 128 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu, :
esjs eu esa ,d ,sls fnu dh dYiuk gS tc çkFkfed 
fo|ky; esa i<+kus okys gj v/;kid ls vis{kk dh 

tk,xh fd de&ls& de rhl ikjEifjd dgkfu;ksa 
ij mldk vf/kdkj gksA vf/kdkj ls vk'k; gS fd 
dgkuh ;kn gks vkSj vkRefo'okl ds lkFk lquk ldsA 
ikjEifjd dgkfu;ksa ds lzksr gSa iapra=] tkrd] 
egkHkkjr] xqfyLrk¡] yksd dFkk,¡ vkfnA dgkfu;k¡ 
vPNh rjg ls lquus dh {kerk dk fodkl djrh gSaA 
vuqeku yxkus dk ekSdk nsrh gSaA dgkfu;k¡ 'kCnksa dks 
vFkZ nsrh gSaA 'kCn ,slh lkekftd laifÙk gSa] ftudk 
ç;ksx ge nwljksa ls vius vuqHko ck¡Vus ds fy, djrs 
gSaA dgkuh dks ukVdh; <ax ls cksyk tk ldrk gSA 
b'kkjksa] eqækvksa dk ç;ksx fd;k tk ldrk gSA dgkuh 
ds çR;sd ik= dks vfHkuhr Hkh fd;k tk ldrk gSA

121.	 çkFkfed fo|ky; ds v/;kid ls fdl rjg 
dh vis{kk dh xbZ gS \

(A) 	ikjEifjd dgkfu;k¡ ;kndj lqukus dh

(B) 	 lelkef;d dgkfu;k¡ i<+dj lqukus dh

(C) 	 ikjEifjd dgkfu;k¡ i<+us vkSj lquus dh

(D) 	lelkef;d dgkfu;k¡ fy[kus & lqukus dh

122.	 f'k{kd dk ikjEifjd dgkfu;ksa ij vf/kdkj gksus 
ls D;k vk'k; gS \

(A) 	dgkuh ds ik=ksa dk vfHku; fd;k tk lds

(B) 	 dgkuh dks i<+dj lquk;k tk lds

(C) 	 dgkuh ij vk/kkfjr fp= cuk, tk ldsa

(D) 	dgkuh ;kndj lquk;h tk lds

123.	 ikjEifjd dgkfu;ksa dk lzksr gS %

(A) 	lekpkj&i=	 (B) 	iapra=

(C) 	 ikBîiqLrdsa	 (D) 	if=dk,¡

124.	 dgkfu;ksa dk dkSu&lk egÙo x|ka'k esa çfrikfnr 
ugha gqvk gS \

(A) 	vuqeku yxkus ds volj nsuk

(B) 	 'kCnksa dks vFkZ nsuk

(C) 	 dYiuk'khyrk çdV djuk

(D) 	Jo.k {kerk dk fodkl djuk

125.	 'kCn lkekftd lEifÙk gSa] D;ksafd

 (A) 	'kCnksa }kjk ge nwljksa ls vius vuqHko 
ck¡Vrs gSa

 (B) 	ge nwljksa ls rjg & rjg ds 'kCn lqudj 
lh[krs gSa

 (C) 	'kCn 'kCndks'k ls i<+dj lh[ks tkrs gSa

 (D) 	ge nwljksa ds vuqlkj 'kCnksa dk ç;ksx djrs 
gSa

126.	 'fo|ky;' dk laf/k&foPNsn gSµ

(A) 	 fo| + vy;

(B) 	 fo|k + vy;

(C) 	 fo|k + vky;

	(D) 	 fo|k + y;

127.	 'ikjEifjd' esa ç;qä çR;; dk lgh fodYi 
pqfu,µ

(A) 	 fjd	 (B) 	bd
(C) 	 bZd	 (D) 	d

128.	 'çR;sd' dk laf/k&foPNsn gSµ

(A) 	çR; ,d	 (B) 	çR;sd

(C) 	 çrh ,d	 (D) 	çfr ,d
funsZ'k (iz'u la[;k 129 ls 135 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu, :

O;aX; fujarjrk dh ek¡x djrk gS vkSj fujarjrk 
esa uohu dh mifLFkfr dk vkxzg Lo;a ekStwn gks 
tkrk gSA ysfdu fujarjrk dk ,d [krjk ;g gS fd 
O;aX;dkj [kqn dks nksgjkus yxrs gSaA tks Hkk"kk mudh 
i`Fkd~ igpku vkSj ped cuk jgh gksrh Fkh og 
detksjh gks tkrh gSA T;knk ys[ku dk cks> fo'ks"kdj 
O;aX; esa nksgjko dh nfjærk ykrk gSA çk;% O;aX;dkj 
Hkk"kk ds [ksy esa my> tkrs gSa ij l'kä O;aX; ds 
fy, mUgsa Hkk"kk dks 'kfä cukuk gksxkA leFkZ vkSj 
le`¼ Hkk"kk ds lkFk&lkFk O;aX; dh xfjek dh j{kk 
Hkh djuk ,d cM+h ckr gS] ojuk çk;% O;aX;dkj 
Hkk"kk dks jpuk&n{krk ekudj] dkjd ifjfLFkfr;ksa 
dks NksM+dj lkekU; phtksa vkSj fLFkfr;ksa dh f[kYyh 
mM+kuk 'kq: dj nsrs gSaA

129.	 'O;aX; fujarjrk dh ek¡x djrk gS' dk vk'k; gSµ

(A) 	ys[ku lrr :i ls pyrs jguk pkfg,

(B) 	 vkxkeh jpuk esa iwoZ esa fy[ks x, dk 
mYys[k gksuk pkfg,

(C)	 çR;sd jpuk esa uohurk dk iqV gksuk pkfg,

(D) 	gj jpukdkj dks viuh jpuk esa O;aX; dk 
lekos'ku djuk pkfg,

130.	 x|ka'k esa fujarjrk ds fdl [krjs dh ckr 
mBkbZ xbZ gS \

(A)	 O;aX;dkj ,d lkFk vusd jpuk,¡ fy[kus 
yxrs gSaA

(B)	 fiNyh jpukvks a dk dysoj vkxkeh 
jpukvksa esa >ydus yxk gSA

(C)	 O;aX; ds ikBd cgqr de gks x, gSaA

(D)	 O;aX; ds ljkguk cks/k dh {kerk [kRe gksrh 
tk jgh gS

131.	 vf/kdkf/kd jpuk,¡ fy[kus dk D;k ifj.kke 
gksrk gS \

 (A)	 fo"k;oLrq esa uohurk dk vHkko fn[kkbZ 
nsrk gS

 (B)	 jpukdkj dh [;kfr nwj & nwj rd QSyrh 
gSA

 (C)	 ikBdksa dks vusd jpuk,¡ ,d lkFk i<+us 
ds fy, feyrh gSaA

 (D)	çdk'kd ds fy, p;u djuk dfBu gks 
tkrk gS
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132.	 l'kä O;aX; ds fy, lcls vko';d rÙo 
D;k gS \

(A) 	 fo"k;oLrq esa nksgjko

(B) 	 leFkZ o le`¼ Hkk"kk

(C) 	 vf/kd&ls&vf/kd fy[kuk

(D) 	 O;aX;dkj dh O;fäxr igpku

133.	 'f[kYyh mM+kuk' dk Hkko gSµ

(A) 	 f[kyf[kykdj g¡luk

(B) 	 xkSjoxku djuk

(C) 	 gkl&ifjgkl djuk

(D) 	migkl djuk

134.	 'i`Fkd~ igpku'] x|ka'k ds lanHkZ esa js[kkafdr 
'kCn ds LFkku ij dkSu&lk 'kCn mi;qä gksxk \

(A)	 egku 	 (B)	 etcwr

(C)	 fof'k"V 	 (D)	le`¼

135.	 ped esa dkSu&lk çR;; yxkdj lkFkZd 'kCn 
cu ldrk gS \

(A) 	bZyk	 (B) 	b;k

(C) 	 vkjh	 (D) 	,jk

136.	 pkWeLdh ds vuqlkj] euq"; ds ikl Hkk"kk& 
fodkl gsrq ______gSA

(A) 	vf/kxe lsV

(B) 	 tSodh; O;oLFkk

(C) 	 cks/kkRed lsV

(D) 	VsyhxzkfQd rRijrk

137.	 jpukokn ,d vf/kxe fl¼kar ds :i esa fdlesa 
fo'okl djrk gS \

(A) 	vf/kxe oS;fäd fo'ks"krk gS

(B) 	 lHkh f'k{kkFkhZ Hkk"kk ugha lh[k ldrs gSaA

(C) 	 vf/kxe iwjh rjg ls ,d euksoSKkfud 
èkkj.kk gS

(D) 	vf/kxe lkekftd :i ls gksrk gSA

138.	 ,d v/;kfidk d{kk vkB ds f'k{kkfFkZ;ksa dks ,d 
vkys[k nsrh gS ftldk Lrj muds Hkk"kk Lrj ls 
dqN vf/kd gSA f'k{kkFkhZ dks bl ikBî&lkexzh 
ds lkFk cgqr ls dk;Z djus gSaA bls fdl :i 
esa tkuk tk,xk \

(A) 	vf/kxe ifjdYiuk

(B) 	 vcks/kxE; fuos'k

(C) 	 iBu cks/kxE;rk

(D) 	cks/kxE; fuos'k

139.	 Hkk"kk f'k{k.k&vf/kxe dk dkSu&lk mikxe 
bl rF; esa fo'okl djrk gS fd 'Hkk"kk ,d 
vknr gS' \
(A) 	lEçs"k.kkRed Hkk"kk f'k{k.k 
(B) 	 lg;ksxkRed Hkk"kk vf/kxe

(C) 	 çkÏfrd mikxe 
(D) 	JO;µHkk"kkokn

140.	 dbZ ckj dqN yksx ,d gh okD; esa fofHkUu 

Hkk"kkvks a dk ç;ksx djrs gS aA ;g fdldk 

mnkgj.k gS \

(A) 	dksM&varj.k (dksM&fLofpax) 
(B) 	 dksM&feJ.k (dksM&fefDlax)
(C) 	 lkekftd&Hkkf"kd 
(D) 	cksfy;k¡

141.	 dqN fo|kFkhZ Hkk"kk ds vuwBs mPpkj.k laca/kh 
fu;e ds dkj.k cksyus esa vkRefo'okl dh deh 
eglwl djrs gSaA bl leL;k dks nwj djus dk 
D;k lek/kku gks ldrk gS \

(A) 	cPpksa dks d{kk esa i<+us ds fy, çksRlkfgr 
djuk

(B) 	 dkmUlyj dh enn ls fo'ks"k okd~ Fksjsih 
djokuk

(C) 	 ,slh [ksy vk/kkfjr xfrfof/k;ks a dk 
fØ;kUo;u djuk] ftuls d{kk esa ekSf[kd 
vUr%fØ;k dks volj feys

(D) 	 fo|kfFkZ;ksa dh xyrh dks rqjar Bhd djuk

142.	 miU;kl i<+uk fdldk mnkgj.k gS \

(A) 	 foLr`r iBu (,DlVsaflo jhfMax)
(B) 	 xgu iBu (baVsaflo jhfMax)
(C) 	 ckjhdh ls iBu (LdSfuax)
(D) 	ljljh rkSj ij iBu (fLdfeax)

143.	 O;kdj.k dk f'k{k.k eq[;r% fdlesa lq/kkj ykus 
ds fy, mi;ksxh gS \

(A) 	çokg	 (B) 	lVhdrk

(C) 	 lk{kjrk	 (D) 	la[;k cks/k

144.	 O;kdj.k f'k{k.k dk mís'; fo|kfFkZ;ks a dks 
lEçs"k.k djus esa leFkZ cukuk gSA fuEufyf[kr 
esa ls dkSu&lk bl mís'; ls esy ugha [kkrk gS \ 

(A) 	 fo|kfFkZ;ksa dk çR;sd O;kdjf.kd fcUnq ds 
çR;sd igyw ij fu;a=.k gksuk pkfg,

(B) 	 fo|kfFkZ;ksa dks bl çdkj ds çR;{k funsZ'kksa 
dh vko';drk gS] ftuds ek/;e ls 
O;kdjf.kd fcUnq c`gÙkj lEçs"k.k lanHkks± 
ls tqM+ ldsa

(C) 	 fo|kfFkZ;ksa dh fuiq.krk dsoy mUgha igyqvksa 
ij gksuh pkfg,] tks rkRdkfyd lEçs"k.k 
dk;Z ds fy, çklafxd gSa

(D) 	=qfV;ksa esa lq/kkj djuk lnSo v/;kidksa 

dk gh igyk mÙkjnkf;Ro ugha gksrk gS

145.	 ys[ku ds fofHkUu pj.kksa ls xqtjdj ys[ku 

vfèkxe D;k dgykrk gS \

(A) 	ys[ku dk çfØ;k mikxe

(B) 	 ys[ku dk mRikn mikxe

(C) 	 fo'ys"k.kkRed ys[ku

(D) 	jpukRed ys[ku

146.	 iBu esa 'vFkZxr~ ladsr (lhesafVd D;w)' bl rjg 

ds vocks/kd gSa tksµ

(A) 	'kCnksa dks fMdksM djus esa lgk;rk djrs 

gSaA

(B) 	 'kCnksa dk lgh mPpkj.k djus esa lgk;rk 

djrs gSa

(C) 	 vFkZ & xzg.k dh çfØ;k esa enn djrs gSaA

(D)	 O;kdjf.kd fu;eksa dh igpku djus esa 

enn djrs gSa

147.	 fo|ky;h f'k{kk dh 'kq#vkrh voLFkk es a 

cgqHkkf"kd mikxe dk ç;ksx djus ls fdlds 

udkjkRed ifj.kke dk lkeuk djus esa lgk;rk 

fey ldrh gS \

(A) 	 fo|ky; ls MªkWivkmV

(B) 	 vf/kxe v'kärk

(C) 	 fdlh dh Lo;a dh Hkk"kk dh {kfr

(D) 	detksj lEçs"k.k dkS'ky

148.	 d{kk esa u;k ikB 'kq: djus ls igys vki 

vius f'k{kkfFkZ;ksa dks fdlh etsnkj ÅtkZnk;d 

xfrfof/k esa layXu djrs gSaA vki ,slk fdlfy, 

djrs gSa \

(A) 	 f'k{kkfFkZ;ksa dks d{kk ds fy, izksRlkfgr o 

rS;kj djus ds fy,

(B) 	 vius dk;ZHkkj dks de djus ds fy,

(C) 	 ikB 'kq: djus ls igys d{kk esa vuq'kklu 

cuk, j[kus ds fy,

(D) 	 f'k{kkfFkZ;ksa dk /;ku nwljh vksj djus ds 

fy,

149.	 fdlh fuca/k esa m¼j.k (dksVs'ku) fy[kus dk ewy 

mís'; D;k gksxk \

(A) 	 fuca/k dk Hkko lqfuf'pr djuk

(B) 	 fdlh tfVy eqís dh O;k[;k djuk

(C) 	 nwljs ds n`f"Vdks.k dks çLrqr djuk

(D) 	 fof'k"V vk¡dM+ksa dk fo'ys"k.k djuk

150.	 f'k{kkFkhZ ds lEçs"k.k dkS'kyksa dk vkdyu djus 

ds fy, lokZf/kd :i ls mi;qä vkdyu 

xfrfof/k dkSu&lh gksxh \

(A) 	 fp= iqLrd ls fdlh n`'; dk o.kZu djuk

(B) 	 jksy Iys esa fdlh Hkwfedk dk fuokZg djuk

(C) 	 fdlh JO; lkezxh dk Jo.k vkSj ekSf[kd 

:i ls bl ij çfrfØ;k nsuk

(D) 	 fdlh nh xbZ fLFkfr esa oäO; ys[ku
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Answer key
Child Development and Pedagogy

1.	(B) 2.	(C) 3.	(*) 4.	(A) 5.	(B)

6.	(D) 7.	(A) 8.	(B) 9.	(B) 10.	(A)

11.	(A) 12.	(D) 13.	(A) 14.	(D) 15.	(B)

16.	(A) 17.	(D) 18.	(A) 19.	(B) 20.	(C)

21.	(A) 22.	(B) 23.	(C) 24.	(A) 25.	(B)

26.	(D) 27.	(C) 28.	(C) 29.	(D) 30.	(D)

Mathematics
31.	(D) 32.	(D) 33.	(C) 34.	(D) 35.	(C)

36.	(B) 37.	(B) 38.	(C) 39.	(A) 40.	(C)

41.	(B) 42.	(B) 43.	(D) 44.	(D) 45.	(B)

46.	(B) 47.	(C) 48.	(B) 49.	(D) 50.	(B)

51.	(B) 52.	(A) 53.	(D) 54.	(C) 55.	(B)

56.	(D) 57.	(D) 58.	(C) 59.	(A) 60.	(B)

Science
61.	(A) 62.	(C) 63.	(A) 64.	(B) 65.	(C)
66.	(A) 67.	(D) 68.	(D) 69.	(D) 70.	(C)
71.	(B) 72.	(D) 73.	(A) 74.	(C) 75.	(C)
76.	(B) 77.	(B) 78.	(C) 79.	(D) 80.	(B)
81.	(A) 82.	(C) 83.	(A) 84.	(B) 85.	(B)
86.	(D) 87.	(A) 88.	(B) 89.	(C) 90.	(C)

English : Language-I
91.	(B) 92.	(A) 93.	(B) 94.	(A) 95.	(B)
96.	(C) 97.	(D) 98.	(C) 99.	(B) 100.	(A)

101.	(D) 102.	(A) 103.	(C) 104.	(A) 105.	(A)
106.	(D) 107.	(B) 108.	(B) 109.	(D) 110.	(A)
111.	(B) 112.	(D) 113.	(D) 114.	(A) 115.	(A)
116.	(B) 117.	(D) 118.	(B) 119.	(A) 120.	(B)

fganh % Hkk"kk-I
91.	(C) 92.	(A) 93.	(D) 94.	(B) 95.	(C)
96.	(A) 97.	(D) 98.	(B) 99.	(A) 100.	(B)

101.	(A) 102.	(C) 103.	(D) 104.	(B) 105.	(B)

106.	(B) 107.	(B) 108.	(D) 109.	(D) 110.	(A)
111.	(D) 112.	(A) 113.	(A) 114.	(B) 115.	(B)
116.	(B) 117.	(D) 118.	(B) 119.	(A) 120.	(D)

English : Language-II
121.	(B) 122.	(B) 123.	(A) 124.	(B) 125.	(C)

126.	(D) 127.	(B) 128.	(C) 129.	(D) 130.	(B)

131.	(C) 132.	(C) 133.	(D) 134.	(B) 135.	(B)

136.	(B) 137.	(D) 138.	(D) 139.	(D) 140.	(A)

141.	(A) 142.	(C) 143.	(B) 144.	(B) 145.	(A)

146.	(B) 147.	(A) 148.	(C) 149.	(A) 150.	(A,C)

fganh % Hkk"kk-II
121.	(A) 122.	(D) 123.	(B) 124.	(C) 125.	(A)

126.	(C) 127.	(B) 128.	(D) 129.	(C) 130.	(B)

131.	(A) 132.	(B) 133.	(D) 134.	(C) 135.	(A)

136.	(B) 137.	(D) 138.	(D) 139.	(D) 140.	(B)

141.	(C) 142.	(A) 143.	(B) 144.	(A) 145.	(A)

146.	(C) 147.	(C) 148.	(A) 149.	(A,C) 150.	(B)
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